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Equation y=a+bx
Weight No Weighting
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Equation y=a+bx
Weight No Weighting
Residual Sum of 0 0 0 0
Squares.
Pearson's r
Adj. R-Square - - -
Value Standard Error
Intercept 8.76248 -
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composition #H2t7} Gl= polycrystalline solidf| 42| growth rate= Of2ff At 20| #Y 7ts¢.
dR ABGyy AG* 1 AG*

— g1 — _ — A%z 2N (Al J5Ltoix) B EELA 225

u=— =nKt o Vo exp( RT) Ax 7 exp( RT) (A FOHA] 27| H St 7')



AG*)
RT

AG
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4 Equation y=a+b*x
7 Weight No Weighting
1 | Residual Sum 0.07519
J of Squares
Pearson's r -0.98569
0.13534 1
. Adj. R-Square 0.95738
] Value Standard Error
1 Intercept -1.15332 0.1988
T B Slope -13.77845 1.66616
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Activation energy+= (13.78 K) * (8.314 J mol' K') = 114.6 J mol"' O|LC},
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